



Received: 25.03.2015  
Published: 23.10.2015

Year: 2015, Number: 7, Pages: 79-85  
Original Article\*\*

## THE NEW SOLUTION OF TIME FRACTIONAL WAVE EQUATION WITH CONFORMABLE FRACTIONAL DERIVATIVE DEFINITION

Yücel Çenesiz<sup>1</sup> <ycenesiz@gmail.com>  
Ali Kurt<sup>2,\*</sup> <alikurt@mku.edu.tr>

<sup>1</sup>Selçuk University, Mathematics Department, Konya, Turkey.  
<sup>2</sup>Mustafa Kemal University, Mathematics Department, Hatay, Turkey.

**Abstract** – In this paper, we used new fractional derivative definition, the conformable fractional derivative, for solving two and three dimensional time fractional wave equation. This definition is simple and very effective in the solution procedures of the fractional differential equations that have complicated solutions with classical fractional derivative definitions like Caputo, Riemann-Liouville and etc. The results show that conformable fractional derivative definition is usable and convenient for the solution of higher dimensional fractional differential equations.

**Keywords** – Time fractional wave equation, conformable fractional derivative.

### 1 Introduction

Fractional differential equations sometimes called as extraordinary differential equations because of their nature and easily find in various fields of applied sciences [1-8]. So the scientific and engineering problems which involve fractional calculus are very large and still very effective. In recent years, scientists have proposed many efficient and powerful methods to obtain exact or numerical solutions of fractional differential equations [9-10].

In addition to this, many researchers have been trying to form a new definition of fractional derivative. Most of these definitions include integral form for fractional derivatives. Two of these definitions which are most popular:

- i. *Riemann-Liouville definition:*

If  $n$  is a positive integer and  $\alpha \in [n-1, n)$ ,  $\alpha$  derivative of  $f$  is given by

---

\*\* Edited by Oktay Muhtaroglu (Area Editor) and Naim Çağman (Editor-in-Chief).

\* Corresponding Author.

$$D_a^\alpha(f)(t) = \frac{1}{\Gamma(n-\alpha)} \frac{d^n}{dt^n} \int_a^t \frac{f(x)}{(t-x)^{\alpha-n+1}} dx.$$

ii. *Caputo definition:*

If  $n$  is a positive integer and  $\alpha \in [n-1, n)$ ,  $\alpha$  derivative of  $f$  is given by

$$D_a^\alpha(f)(t) = \frac{1}{\Gamma(n-\alpha)} \int_a^t \frac{f^{(n)}(x)}{(t-x)^{\alpha-n+1}} dx.$$

In [11] R.Khalil and et al. give a new definition of fractional derivative called “conformable fractional derivative”.

**Definition 1.1.** Let  $f : [0, \infty) \rightarrow \mathbb{R}$  be a function.  $\alpha^{\text{th}}$  order “conformable fractional derivative” of  $f$  is defined by

$$T_\alpha(f)(t) = \lim_{\varepsilon \rightarrow 0} \frac{f(t + \varepsilon t^{1-\alpha}) - f(t)}{\varepsilon}$$

for all  $t > 0, \alpha \in (0, 1)$ . If  $f$  is  $\alpha$ -differentiable in some  $(0, a), a > 0$ , and  $\lim_{t \rightarrow 0^+} f^{(\alpha)}(t)$  exists, then define  $f^{(\alpha)}(0) = \lim_{t \rightarrow 0^+} f^{(\alpha)}(t)$ .

This new definition satisfies the properties which are given in the following theorem [11].

**Theorem 1.1.** Let  $\alpha \in (0, 1]$  and  $f, g$  be  $\alpha$ -differentiable at point  $t > 0$ . Then

- a)  $T_\alpha(cf + dg) = cT_\alpha(f) + dT_\alpha(g)$ , for all  $a, b \in \mathbb{R}$ ,
- b)  $T_\alpha(t^p) = pt^{p-\alpha}$  for all  $p \in \mathbb{R}$ ,
- c)  $T_\alpha(\lambda) = 0$  for all constant functions  $f(t) = \lambda$ ,
- d)  $T_\alpha(fg) = fT_\alpha(g) + gT_\alpha(f)$ ,
- e)  $T_\alpha\left(\frac{f}{g}\right) = \frac{gT_\alpha(f) - fT_\alpha(g)}{g^2}$ ,
- f) If, in addition to  $f$  is differentiable, then  $T_\alpha(f)(t) = t^{1-\alpha} \frac{df}{dt}$ .

## 2 Time Fractional Wave Equation in Rectangular Domain

In this section we investigate the solution of two dimensional wave equation with conformable fractional derivative,

$$\frac{\partial^\alpha}{\partial t^\alpha} \frac{\partial^\alpha u}{\partial t^\alpha} = \kappa^2 \left( \frac{\partial^2 u}{\partial x^2} + \frac{\partial^2 u}{\partial y^2} \right), \quad 0 < x < a, \quad 0 < y < b, \quad t > 0 \tag{1}$$

in the rectangular domain  $D = \{(x, y) : 0 < x < a, 0 < y < b, x, y \in \mathbb{R}\}$ , which describes vibrating membrane or plate with the conditions

$$u(0, y, t) = u(a, y, t) = u(x, 0, t) = u(x, b, t) = 0 \tag{2}$$

$$u(x, y, 0) = f(x, y); 0 \leq x \leq a, 0 \leq y \leq b \tag{3}$$

$$u_t(x, y, 0) = g(x, y); 0 \leq x \leq a, 0 \leq y \leq b$$

where  $0 < \alpha \leq 1$ .

Let  $u(x, y, t) = P(x)Q(y)R(t)$ . Then taking necessary derivatives in equation (1) and dividing all sides by  $\kappa^2 P(x)Q(y)R(t)$  we have,

$$\frac{1}{\kappa^2 R(t)} \frac{\delta^\alpha}{\delta t^\alpha} \frac{\partial^\alpha R}{\partial t^\alpha} = \frac{1}{P(x)} \frac{\partial^2 P}{\partial x^2} + \frac{1}{Q(y)} \frac{\partial^2 Q}{\partial y^2} = -\mu^2. \tag{4}$$

If we handle the right side of the equation we get,

$$\frac{1}{P(x)} \frac{\partial^2 P}{\partial x^2} = -\frac{1}{Q(y)} \frac{\partial^2 Q}{\partial y^2} - \mu^2. \tag{5}$$

For  $0 < x < a$  the right side and for  $0 < y < b$  the left side of the equation (5) does not change. So we obtain,

$$\frac{1}{P(x)} \frac{\partial^2 P}{\partial x^2} = -\frac{1}{Q(y)} \frac{\partial^2 Q}{\partial y^2} - \mu^2 = -\mathcal{G}^2 \tag{6}$$

where  $\mathcal{G}$  is separation constant. From equations (4) and (6) we have the following equalities,

$$\frac{\delta^\alpha}{\delta t^\alpha} \frac{\partial^\alpha R}{\partial t^\alpha} + \kappa^2 \mu^2 R(t) = 0,$$

$$\frac{\partial^2 P}{\partial x^2} + \mathcal{G}^2 P = 0,$$

$$\frac{\partial^2 Q}{\partial y^2} + \mathcal{G}^2 Q = 0.$$

By using (f) in Theorem 1.1. [11] and Eq.(29) in [12] which states the sequential conformable fractional derivative the first equation becomes,

$$(1-\alpha)t^{1-2\alpha}R'(t)+t^{2-2\alpha}R''(t)+\kappa^2\mu^2R(t)=0.$$

The solution of above equation can be easily obtained as,

$$R(t) = A \cos\left(\frac{\kappa\mu t^\alpha}{\alpha}\right) + B \sin\left(\frac{\kappa\mu t^\alpha}{\alpha}\right)$$

and the solutions of other equalities can be obtained as,

$$P(x) = C \cos(\vartheta x) + D \sin(\vartheta x)$$

$$Q(y) = E \cos(\iota y) + F \sin(\iota y)$$

and the conditions (2) force these equalities to be

$$P(x) = \sum_{n=1}^{\infty} D_n \sin\left(\frac{n\pi x}{a}\right), \tag{7}$$

$$Q(y) = \sum_{m=1}^{\infty} F_m \sin\left(\frac{m\pi y}{b}\right). \tag{8}$$

Hence from our assumption  $u(x, y, t)$  can be obtained as

$$u(x, y, t) = \sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \left[ \phi_{mn} \cos\left(\frac{\eta_{mn}\kappa t^\alpha}{\alpha}\right) + \gamma_{mn} \sin\left(\frac{\eta_{mn}\kappa t^\alpha}{\alpha}\right) \right] \sin\left(\frac{n\pi x}{a}\right) \sin\left(\frac{m\pi y}{b}\right) \tag{9}$$

where  $\eta_{mn} = \frac{m^2\pi^2}{b^2} + \frac{n^2\pi^2}{a^2}$ .

Now with the help of conditions (3), the coefficients in equation (9) can be found as,

$$\phi_{mn} = \frac{4}{ab} \int_0^a \int_0^b f(x, y) \sin\left(\frac{n\pi x}{a}\right) \sin\left(\frac{m\pi y}{b}\right) dy dx, \tag{10}$$

$$\gamma_{mn} = \frac{4}{\eta_{mn}ab\kappa} \int_0^a \int_0^b g(x, y) \sin\left(\frac{n\pi x}{a}\right) \sin\left(\frac{m\pi y}{b}\right) dy dx. \tag{11}$$

So the solution of equation (1) obtained as,

$$u(x, y, t) = \sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \left[ \left[ \frac{4}{ab} \int_0^a \int_0^b f(x, y) \sin\left(\frac{n\pi x}{a}\right) \sin\left(\frac{m\pi y}{b}\right) dy dx \right] \cos\left(\frac{\eta_{mn} \kappa t^\alpha}{\alpha}\right) + \left[ \frac{4}{\eta_{mn} ab \kappa} \int_0^a \int_0^b g(x, y) \sin\left(\frac{n\pi x}{a}\right) \sin\left(\frac{m\pi y}{b}\right) dy dx \right] \sin\left(\frac{\eta_{mn} \kappa t^\alpha}{\alpha}\right) \right] \sin\left(\frac{n\pi x}{a}\right) \sin\left(\frac{m\pi y}{b}\right).$$

### 3 Three Dimensional Time Fractional Wave Equation

In three dimensional space, when an object or gas makes free vibration motion in a prism, without an outer effect, this motion corresponds to three dimensional wave equation. In fractional form this equation can be expressed as

$$\frac{\delta^\alpha}{\delta t^\alpha} \frac{\partial^\alpha u}{\partial t^\alpha} = \kappa^2 \left( \frac{\partial^2 u}{\partial x^2} + \frac{\partial^2 u}{\partial y^2} + \frac{\partial^2 u}{\partial z^2} \right), 0 < x < a, 0 < y < b, 0 < z < d, t > 0 \quad (12)$$

with the conditions

$$u(0, y, z, t) = u(a, y, z, t) = u(x, 0, z, t) = u(x, b, z, t) = u(x, y, 0, t) = u(x, y, d, t) = 0 \quad (13)$$

$$u(x, y, z, 0) = f(x, y); 0 \leq x \leq a, 0 \leq y \leq b, 0 \leq z \leq d \quad (14)$$

$$u_t(x, y, z, 0) = g(x, y); 0 \leq x \leq a, 0 \leq y \leq b, 0 \leq z \leq d$$

where  $0 < \alpha \leq 1$  and the derivative is conformable fractional derivative. Assume that  $u(x, y, z, t) = P(x)Q(y)R(z)T(t)$ . Then taking derivatives which are necessary in equation (12) and dividing all sides by  $\kappa^2 P(x)Q(y)R(z)T(t)$  we have,

$$\frac{1}{\kappa^2 T(t)} \frac{\delta^\alpha}{\delta t^\alpha} \frac{\partial^\alpha T}{\partial t^\alpha} = \frac{1}{P(x)} \frac{\partial^2 P}{\partial x^2} + \frac{1}{Q(y)} \frac{\partial^2 Q}{\partial y^2} + \frac{1}{R(z)} \frac{\partial^2 R}{\partial z^2} = -\mu^2. \quad (15)$$

If we repeat the same procedure which is given in Section 2, we obtain the following equations,

$$\begin{aligned} \frac{\delta^\alpha}{\delta t^\alpha} \frac{\partial^\alpha T}{\partial t^\alpha} + \kappa^2 \mu^2 T(t) &= 0, \\ \frac{\partial^2 P}{\partial x^2} + \mathcal{G}^2 P &= 0, \\ \frac{\partial^2 Q}{\partial y^2} + t^2 Q &= 0, \\ \frac{\partial^2 R}{\partial z^2} + \rho^2 R &= 0. \end{aligned}$$

By using (f) in Theorem 1.1. [11] and Eq.(29) in [12] which states the sequential conformable fractional derivative the first equation becomes,

$$(1 - \alpha)t^{1-2\alpha} T'(t) + t^{2-2\alpha} T''(t) + \kappa^2 \mu^2 T(t) = 0$$

The solution of above equation can be easily obtained as,

$$T(t) = A \cos\left(\frac{\kappa \mu t^\alpha}{\alpha}\right) + B \sin\left(\frac{\kappa \mu t^\alpha}{\alpha}\right). \tag{16}$$

Additionally solutions of other equations can be obtained as,

$$\begin{aligned} P(x) &= C \cos(\mathcal{G}x) + D \sin(\mathcal{G}x) \\ Q(y) &= E \cos(ty) + F \sin(ty) \end{aligned}$$

and the conditions (13) force these equalities to be,

$$P(x) = \sum_{n=1}^{\infty} D_n \sin\left(\frac{n\pi x}{a}\right), \tag{17}$$

$$Q(y) = \sum_{m=1}^{\infty} F_m \sin\left(\frac{m\pi y}{b}\right), \tag{18}$$

$$R(z) = \sum_{r=1}^{\infty} K_r \sin\left(\frac{r\pi z}{d}\right). \tag{19}$$

Thus, from our assumption, we have  $u(x, y, z, t)$  as,

$$\begin{aligned} u(x, y, t) &= \sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \sum_{r=1}^{\infty} \phi_{mnr} \cos\left(\frac{\eta_{mnr} \kappa t^\alpha}{\alpha}\right) \sin\left(\frac{n\pi x}{a}\right) \sin\left(\frac{m\pi y}{b}\right) \sin\left(\frac{r\pi z}{d}\right) \\ &+ \gamma_{mnr} \sin\left(\frac{\eta_{mnr} \kappa t^\alpha}{\alpha}\right) \sin\left(\frac{n\pi x}{a}\right) \sin\left(\frac{m\pi y}{b}\right) \sin\left(\frac{r\pi z}{d}\right) \end{aligned} \tag{20}$$

By using conditions (14) we have the coefficients  $\phi_{mnr}$  and  $\gamma_{mnr}$  as,

$$\phi_{mn} = \frac{8}{abd} \int_0^a \int_0^b \int_0^d f(x, y, z) \sin\left(\frac{n\pi x}{a}\right) \sin\left(\frac{m\pi y}{b}\right) \sin\left(\frac{r\pi z}{d}\right) dz dy dx, \quad (21)$$

$$\gamma_{mn} = \frac{8}{\eta_{mnr} abd \kappa} \int_0^a \int_0^b \int_0^d g(x, y, z) \sin\left(\frac{n\pi x}{a}\right) \sin\left(\frac{m\pi y}{b}\right) \sin\left(\frac{r\pi z}{d}\right) dz dy dx. \quad (22)$$

## 4 Conclusions

In this paper we discuss about the solution of two and three dimensional time fractional wave equation. With the help of conformable fractional derivative definition we can easily transform fractional differential equations to the known classical differential equations. By this solution procedure there is no need any other complex methods or complex definitions to get the exact solution of the problem. From the solution procedure and the results it is easily seen that this definition is convenient and applicable for the solution of higher dimensional partial fractional differential equations.

## References

- [1] K. Oldham and J. Spanier, *The Fractional Calculus, Theory and Applications of Differentiation and Integration of Arbitrary Order*, Academic Press, 1974.
- [2] K.S. Miller, B. Ross, *An Introduction to the Fractional Calculus and Fractional Differential Equations*, A Wiley-Interscience Publication, 1993.
- [3] I. Podlubny, *Fractional Differential Equations*, Academic Press, 1999.
- [4] A.A. Kilbas, H.M. Srivastava and J.J. Trujillo, *Theory and Applications of Fractional Differential Equations*, Elsevier, 2006.
- [5] H. Wang, B. Zheng, *Exact solutions for fractional partial differential equations by an extended fractional Riccati sub-equation method*, WSEAS Transactions on Mathematics 13 (2014) 952-961.
- [6] I. Goychuk, P. Hänggi, *Fractional diffusion modeling of ion channel gating*, Phys Rev. E 70 (5) (2004) 1-9.
- [7] M. Abu Hammad, R. Khalil, *Conformable Fractional Heat Differential Equation*, International Journal of Pure and Applied Mathematics 94(2) (2014) 215-221.
- [8] B. K. Dutta, L. K. Arora, *On the existence and uniqueness of solutions of a class of initial value problems of fractional order*, Mathematical Sciences (2013).
- [9] A. Esen, N. M. Yagmurlu and O. Tasbozan, *Approximate Analytical Solution to Time-Fractional Damped Burger and Cahn-Allen Equations*, Applied Mathematics and Information Sciences 7(5) (2013) 1951-1956.
- [10] A. Karbalaie, M. M. Montazeri, H. H. Muhammed, *Exact Solution of Time-Fractional Partial Differential Equations Using Sumudu Transform*, WSEAS Transactions on Mathematics 13 (2014) 142 – 151.
- [11] R. Khalil, M. Al Horani, A. Yousef, M. Sababheh, *A new definition of fractional derivative*, Journal of Computational and Applied Mathematics 264(2014) 65-70.
- [12] T. Abdeljawad, *On conformable fractional calculus*, Journal of Computational and Applied Mathematics, 279 (2015) 57-66.